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Algebra 1 ECA Remediation

Quiz 21.3
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Sketch the solution to each system of inequalities.

1)  y £  
4

3
x -  2
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3
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2)  y >  - 5 x +  3
y >  - x -  1
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3)  x -  y ³  2
2 x +  3 y £  9

A)  

x

y
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- 4

- 2

2

4

B)  

x

y
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x

y
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4)  x +  y ³  - 3
4 x -  y >  - 2
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y

- 4 - 2 2 4

- 4

- 2

2

4

C)  

x

y

- 4 - 2 2 4

- 4

- 2

2

4

D)  

x

y

- 4 - 2 2 4

- 4

- 2

2

4



©N u2y0O1q5B BKCuJtkay wSMojfntIwjaNrfeB vLTLKCW.a F UABlFlr OrOiegbhbtCs\ ^rge_sdeirxvCeCdE.J h aMUaOd[eh dwOiCtvho eIonGfqiFnTiItweC ZAslOgLeLbxrKa` S1V.

Worksheet by Kuta Software LLC

-3-

Sketch the graph of each line.

5)  y =  -
7

2
x +  5

A)  

x

y
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x
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6)  y =  
6

5
x +  3

A)  

x

y

- 6 - 4 - 2 2 4 6
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4

6

B)  

x

y

- 6 - 4 - 2 2 4 6
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4
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C)  

x

y

- 6 - 4 - 2 2 4 6
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2

4
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D)  

x
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